
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

9902 × 0.01 = ________ 3599, 3 × 0.1 = ________

7373, 2 × 0.1 = ________ 2452, 7 × 0.0001 = ________

1057, 8 × 0.001 = ________ 5239, 8 × 0.1 = ________

8090, 5 × 0.001 = ________ 8946 × 0.001 = ________

2586, 7 × 0.01 = ________ 1337, 9 × 0.1 = ________

1269, 6 × 0.001 = ________ 5644, 6 × 0.01 = ________

8683, 5 × 0.001 = ________ 5935, 5 × 0.1 = ________

8291, 2 × 0.001 = ________ 3348, 7 × 0.01 = ________

8337, 2 × 0.0001 = ________ 3060, 9 × 0.1 = ________

2615, 4 × 0.0001 = ________ 3594, 8 × 0.1 = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

9902 × 0.01 = 99.02 3599, 3 × 0.1 = 359.93

7373, 2 × 0.1 = 737.32 2452, 7 × 0.0001 = 0.24527

1057, 8 × 0.001 = 1.0578 5239, 8 × 0.1 = 523.98

8090, 5 × 0.001 = 8.0905 8946 × 0.001 = 8.946

2586, 7 × 0.01 = 25.867 1337, 9 × 0.1 = 133.79

1269, 6 × 0.001 = 1.2696 5644, 6 × 0.01 = 56.446

8683, 5 × 0.001 = 8.6835 5935, 5 × 0.1 = 593.55

8291, 2 × 0.001 = 8.2912 3348, 7 × 0.01 = 33.487

8337, 2 × 0.0001 = 0.83372 3060, 9 × 0.1 = 306.09

2615, 4 × 0.0001 = 0.26154 3594, 8 × 0.1 = 359.48
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